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Concept Check \/ 1. If a chord of a circle intersects a tangent to the circle at the point of tangency,

what is the relationship between the angles formed and the intercepted arcs?
Skill Check \/ Find the indicated measure or value.
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PRACTICE AND APPLICATIONS

------------------------------------------------------------------------------------------------------------------------------

FINDING MIEASURES Find the indicated measure.
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HOMEWORK HELP
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Example 1: Exs. 8-13 ’ p
Example 2: Exs. 14-16 5>(-'l27 (0x+50* A(§x-21)
Example 3: Exs. 17-25

Example 4: Exs. 26-28
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Example 5: Ex. 35
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FINDING ANGLE MEEASURES Find mZ1. .40 W
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FINDING ANGLE MEASUR se the

diagram at the right to find the
measure of the angle.
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35. % FIREWORKS You are watching fireworks +¢ (oS (“ 00,0
over San Diego Bay § as you sail away in a
boat. The highest point the fireworks reach F is
about 0.2 mile above the bay and your eyes E
are about 0.01 mile above the water. At point B
you can no longer see the fireworks because of
the curvature of Earth. The radius of Earth is
about 4000 miles and FE is tangent to Earth
at 7. Find mSB . Give your answer to the ;
nearest tenth of a degree. Not drawn to scale

10.4 Other Angle Relationships in Circles




